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Test Identifier Feature Result
CMS.STC.000.000~007 A Ax HAE PASS
CMS.STC.001.000~004 A= &9l HAE PASS
CMS.STC.002.000, 001 A4 715 HAE FAIL(001 FAIL)
CMS.STC.003.000~004 odeF 715 HAE PASS

CMS.STC.004.000 Y £7 HAE PASS
CMS.STC.005.000~001 AN Ax & 2 HAE PASS

2. 0ig L
2.1 Failed - 1

V. /C )

B , /
INPUT DUST / 3. ADD BEANS / 4. ADD WATER / 5. SET CUP / 6. GET COFFEE
)

, Extract : 2, Clean : 3
4, Tem_toggle : 5

init complete
KEY PAD>




2.1.1 20 el 2
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Tick] W_Time == time(NULL) ]|
_//status = "Ready"

(NULL) ]

Ready to Order Cleaning

Tick[ WD >= 500 ]

//W Time = time(NULL) + 10
//status = "Clean”
//Trigger "Clean Procedure"

Reserv_RUN Water Check

A

Tick[ Set_D.mode == Cl
ick[ Set_D.mode e Tick] WD >=500 ]
//status = "Check” _ [

Tick[ WD < 500 ]
//err msg = "Water”
//Trigger User__CaII

/

User Call CW
Ler Call EB

- STDE 7|HIo&E AARCE

(setD.mode == Clean) { (CaBmE == Gleem)
( WSI() < { ( WSI() < 500){
userCall("water"); userCall("water");

(1) (1)
{

{

printf("Water: %d\n", WSI()); printf("Water: %d\n", WSI());

sleep(WAIT);

sleep(WAIT); (WST() >= CW) .

(WSI() >= (setD.set.con))
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CMS.STC.000.000 EEE A HA0|5 A Pass (200 / 200)
CMS.STC.000.000 £ 500ml Al HAJ|5 A Pass (500 / 0)
CMS.STC.000.000 = 600ml Al HA7|5 HY Pass (600 / 100)

B /SE/T4/MCCexe Bl /SE/T4/MCC.exe Bl /SE/T4/MCC.exe

. ORDAE 19 10

£ 100 1 1480821184 2 100 1 1480821243 2 100 1 1480821345
5 5 0 0

popqueue () popQueue () popQueue ()

NOW ACCEPT ORDER 1480821243 NOW ACCEPT ORDER. 80821345

[CLEAN NOZLE RUN.. [CLEAN NOZLE RUN..

: 2 100 1 1480821184

[complete complete
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